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Note: All questions are compulsory. Marks are indicated against each guestion in Square ém k%ts

Q1. Suppose that you want to expand the AES key that mgmﬁc%’? aft? [5]
“the possible rounds which strategy is being used with su &, 1a
mention the main challenges that are associated w;th the Synﬁn;:t}‘lc Key
Cryptography. g Ly
,b%} y
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Q2. i. How block chain nodes achieve the consens 39@ 4t all the nodes can  [5x2]

easily maintain the consistent state of th@*’d tributed,

uted, [ddger throughout the
network. And how it deals when an adversary’is, ’ ,{I¥ig to propose a forgery
block. /;?z 2
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ii.  Blockchain is a technology that haﬁl cé U@b@y to change the way how we do
business and social mtera}ptlofé/b, fgnﬁmg a decentralized network. Then
mention some essential pr(})pe gst %gu “nake things happened in the network
without any mess

Q3. i.  How you can deﬁ‘ie the.state of Nash Equilibrium with proper example. [3x2]
&ﬁfiﬁ? /3‘ - d
ii.  Specify tjle%ma”i’n teasons for not having transaction-chain instead of
blockc};a in ,3% By, ‘

2 f’% ?’
: 1t %ﬁ’been noted that the size of the blockchain is around 200GB so it
v(fill by %ry difficult for the miners/nodes to verify the transaction within the
spec ed time to make network efficient. Then what is the common data
sfructure to make this kind of verification easy and even partial node can do
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“the same with a proper example.
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Q4. Blockchain is designed to work with limited data due to huge computation [4]
requirements but we are also using it in many heavy loaded applications and
that can create an issue of scalability. Now you will mention at least one
approach to address the same.



